
Beanie Fleur d’Hiver
One size ( 57/59cm head circumference).

Here is a fun and colorful little piece to counter the
winter gray and keep your head warm, it is knitted in the
round and will save you from having to sew. The size is
medium for adults, if you want a smaller model for a
head circumference below 56cm, make the same pattern
starting with 3.5mm needles for the ribs and 4.5mm for
the rest. Jacquard with cables tends to tighten the knit, so
remember to keep it flexible when working. 

Material:
1 skein «In the mood» Kremke solid.
1 skein «In the mood» Kremke multicolored .
You are free to choose whether you make the base   solid   or multicolored, you will define what you will put in A   
and B.
Kit Yarn and pattern     :  https://lesaiguillesdecamille.com/Kit-Bonnet-Fleur-d-Hiver-p-1364-c-0.html  
4 and5mm circular needles on 60 or 80cm cable. Cable needle, yarn needle, scissors,tape measure,1 stitch marker.

Points   and   ab  b  r  e  viations:   
k: knit.
p: purl.
kA: knit  in color A. 
kB: knit  in color B. 
SK2P:  slip the stitch that comes from the left needle to the right without knitting it, then knit together the next 2
stitches. Bind off the previously slipped stitch over the one that has just been knitted. This point corresponds to a 
decrease of 2 stitches.
SK2PA: in color A.
SK2PB: in color B.
m1: knit the stitch that appears 2 times: 1 time using the front strand of the stitch, and 1 time using the back 
strand of this stitch.
*...*: work the pattern between *and* as many times as necessary to reach the end of the round.
(...)x…: repeat the pattern in parentheses as many times as indicated after the "x".
R: Round. 
Cable 1:slip the 4 stitches that appear on the cable needle and put it behind the work. Knit the next 4 stitches 
respecting the color in which they appear. Take the 4 stitches on hold on the cable needle and knit them , also 
respecting the color in which they appear.

Cable 2:slip the 4 stitches that appear on the cable needle and put it in front of the work. Knit the next 4 stitches 
respecting the color in which they appear. Take the 4 stitches on hold on the cable needle and knit them, also 
respecting the color in which they appear.

Ribs 1/1: repeat this round as many times as necessary to obtain the desired height: *k1, p1*.

Gauge needles 4 mm stockinette stitch 10/10cm= 22stitches/30 rounds. 
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Work: 

Cast on 84 stitches loosely (long cast tail for example) with color B on 4mm circular needles, form the circle, 
insert the stitch marker to indicate the beginning of the round, and knit 4 cm of 1/1 rib.
Work the increase row by knitting this round: *m1*, which is equivalent to doubling the number of stitches, 168 
stitches in total.
Work the following round to set up the two-tone pattern taking 5mm needles: *kA3, (kB2, kA2)x4,kB2*.
Note: if you struggle with using parentheses, here's what it looks like without:
*kA3, kB2, kA2, kB2, kA2, kB2, kA2, kB2, kA2, kB2*.
Then do the following pattern of 8 rounds 3 times (24 rounds in total):
R1: *kA3, Cable 1, kB2, Cable 2*.
R2,3,4,5,6,7and8: *kA3, (kB2, kA2)x4,kB2*.Note: if you do not want to count the stitches during these rounds 
from 2 to 8, knit all the stitches scrupulously using the color in which the stitches appear.

At the end of these rounds of pattern begin to make the decreases.
Note: at this point you have approximately 15cm in total height (ribs included).
R1: *SK2PA 1, kA3, Cable 1, kB2, Cable 2*.  152 stitches left.
R2 and 3: *kA1,  (kB2, kA2)x4,kB2*.
R4: remove stitch marker, kA1, kB1,put the stitch marker back on and knit the complete round until it falls on 
the stitch marker as follows: *kB1, (kA2, kB2)x3, kA2, kB1, SK2PB 1*.  136 stitches left.
R5 and 6:*kB1, (kA2, kB2)x4*.
R7: remove stitch marker,kB1, put the stitch marker back on and knit the complete round until it falls on the 
stitch marker as follows:*(kA2, kB2)x3, kA2, SK2PB 1*. 120 stitches left.
R8:*(kA2, kB2)x3, kA2, kB1*.
R9: remove stitch marker,kA1, put the stitch marker back on and knit the complete round until it falls on the 
stitch marker as follows:*kA1, (kB2, kA2)x2, kB2, kA1, SK2PA 1*. 104stitches left. 
R11:remove stitch marker, kA1 , put the stitch marker back on and knit the complete round until it falls on the 
stitch marker as follows:*(kB2, kA2)x2, kB2, SK2PA 1*. 88 stitches left. 
R12: *(kB2, kA2)x2, kB2, kA1*.
R13:remove stitch marker,kB1,put the stitch marker back on and knit the complete round until it falls on the 
stitch marker as follows: *kB1,  kA2, kB2,  kA2, kB1, SK2PB 1*.  72 stitches left.
R14: *kB1, (kA2, kB2)x2*.
R15:remove stitch marker,kB1, put the stitch marker back on and knit the complete round until it falls on the 
stitch marker as follows:*kA2, kB2, kA2, SK2PB 1*. 56 stitches left.
R16: *kA2, kB2, kA2, kB1*.
R17:remove stitch marker,kA1, put the stitch marker back on and knit the complete round until it falls on the 
stitch marker as follows:*kA1, kB2, kA1, SK2PA 1*. 40 stitches left.
R18: *kA1, kB2, kA2*. 
R19:remove stitch marker,kA1, put the stitch marker back on and knit the complete round until it falls on the 
stitch marker as follows:*kB2, SK2PA 1*. 24 stitches left.

Close the top of the hat: Cut the threads to 20cm in length, put them on the yarn needle. Pass the yarn needle 
through all the stitches and remove the circular needle. Tighten the stitches. Pass the yarn needle through all the 
stitches a second time and tighten again. Pass the threads inside the hat and tuck them in, then cut them short. 
Bring in and cut the other threads short.
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